.
2,
&

.

3 S 3 s 3 s
V7 YV Z 7
% DA

o,
&
&
S
2.
2.

< T mE B s=1:500 %

B V=6, 447m3

No.10Li0s @

54 108411, 563

ST-1 108390, 869

L2
] ?- STz 108383. 278
4 - ) 108295. 130
<2 ST 108287, 461
<7

ST5 108350004
WodLITE
Kol
512
< Q o

V Nostso O

b
NoO-Z0 120

ST-6 108457 771 7432. 962

ZERR (DL) i 4
3.340
4. 165
4.141
4.148
4.153

NO.0-20L130

No-oLils
%o 1100
NO. 2185
Yo 570
o 620010 1620 .
%
o616 510 Gy,
Yo 1175 05114126 i L
W00 2061 05257151 F s
o o5t 05505570 B i
NTEN o
o 21 %0
T 2020
o 5+20750 2,919
e 2o
TR 35,75 2508
o 7kt osto14]oras w19 3 781

P

3L

K
LY,
2

2%

%

A

22

2
22

.,4\
K
A _
2NN
ot

208642

2%
%z

%,
%,
7

5%

%

X
7%

S

7

2%
,//
W,
<

2
7
Ui

.
%
.

"‘O
%
.

o4

7
%
R

S os2oLis0
o

%
2

i
%

KD
NS

%
%,

7
Y
.

%

‘:\/

P

BP
-1
P
N0.0
N1 3
NO.2 54,327
N0.3 108371, 050
NO_4 108387 774
N0.5 108404, 495
NO.6 2.2
NO.7
NO.§
N0.9
N0_0-20
N0, 5+20
N0.6-20 108403

N0 10 108496. 933

Z
%

&

22,
95
N

2
2

D

%

%%

%

s

M

Ry
Y
W

s
\&
%;
Y

e

S
N

..\\~\
NN

i ﬂ% SRS
AR
W
/ ///// ¢

oy
N IR
i

oL 1, ‘\//// X
7l

’9‘.:3"\\\\\\//??

" s D
N
) \\\\\\ Y

& // XX

<
§§§§§
SR

RN
ALY

LT
‘/ %

R SRR

’/ \-'&\é\\\\\\\\\“ ‘\st‘&;t&w\vb\s AR VL
&7 X3 KRR of

.

L

.V
99074

7)//
%
4,

///,

%
//,,’//”
;};

0
7%
0%

2
5
3%

Y
.
7
%
%%
2% (l
%

&

&

1:;,,
7 :///,
%
504,
K

Y,

=
5

////,

3552

%
.‘
x
==

7
7%
s

i FERISTERITFE SHBRHEE (AXMNHR)
TEHER HENEOEEZHRMLR-ERLERT S,

ESib sl
I % & | RAFL SibsE AR BRI RRTH

BBE% | SEAE

IHREH | MEAHBENELE 8%

B&E%| FE>

® R 8=1:500 [EE&%[ 1/5

®# &

RIS A, A, & S
Z %ﬁ 9 % %& % %& o FREE | BEAUNLERRR RIBEH<ER>




(1) s=1:100

NO. 1
GH=-2. 850
FH= R31
& A Bl X 5 B &2 ‘
ATE n2 0.8
et B JEERIE m2 2.7
1 MLRA5.18 10:23~10:28 DL-0 890
i3 ===
t
b3
%
L 29000

DL=-7. 000

NO. 2
6H=-3. 370
FH= —~ — R31

WLRAS 18 10:18~10.21 DL-0.035 b
= i
4 /
b /
K
| 20 & A_# B 5 Bii) BB
777777777777777 #7777+7777777777777 300 it m2 -
‘ ‘ a0 At B EERE m2 -
. | SEERIE m2 =
\_ 27800 J
DL=-7.000
& A_# K 9 B -3
WS mw | 197
# Kt E EERE m2 16.5
EEKE | n2 7.9
~. W RS 18 10:11~10:16 DL 075
0 y
\ #®
t
\ D
73 l K
777777777777777777777777777 . 7777777
V77777777
TEERIE
|
L zehm l 4000
DL=-7. 000 NO. 1~NO. 3

1]

I % £ | RAFL S8 [l - BRI RETE

BBE% | SEAE

THREH | PR HE)IETIE Sk

B @& #WE (1)

w R $=1:100 ‘EE?%

2/5

& # B

FEEL | ARRENRARER RIBHED <R >




by T50. 00m

(2)  s=1:100

WLRS 16 10:11~10:16 DL=0. 975

g
E —
P — EETS
‘ EwmRE v w0
|
‘ L 4000 1 27600 J
DL=-7.000
NO. 4
GH=-3. 130
Fh=
% ] x5 |wm] #E
tE m2 67.5
® oMot R EERE | m | 205
Z ——| EERE m2 6.6
W R 10 0t 000 0
R ==
&
t
b
H
|
|
|7 ETRE
‘ |
FBESE W=27500 ‘ J_ 49700 _[ 4000 J
DL=-7. 000
NO. 5
GH=-2. 150
FH=
& A_# R 5 ) B8
miE | w | 41
M+ B JEERE m2 26.1
7 ———_ | zmzE | m | 6s
L Mo 0sese bee
3 XETEBE(E. N.6 EDXZREYAHE
vam
I 2% 7 EERIE v asm
| ETRE L
32600 J
L 1 NO. 3R~NO. 5
21100 31100 1 4000 J S &
DL=-7.000 I % £ | RAFL SidifvE - BRI EETE
BHRa% | SHmE
THEEF | MEGBRIEISSHE
B & 4| HSE (2)
® R $=1:100 [EE%%[ 3/5
EEE
FREE | BEAUNLERRR RIBEH<ER>




(3)

$=1:100

DL=-7. 000

& A_pl Ry |wa]| we
Mt m2 -
B oWt = EERE | w2 | —
i SEERE m2 -
i WS 18 900 et 16
M = KETEHEE. N6 EDXRLYER
3
|
- ! 23,000
‘ H ! ! EETS
L 24700 4000 J
DL=-7. 000
% ¥ A _# B 5 | BE
WiE | mw | -
" ERLTRESS EERE | mw | —
% EERE | w =
t WS 1 920 ettt
5 = XEABRER. .5 EERD
ST —m TN ‘ s
> K«W
— 7777777777§7777777;‘;—/y EEAIR
ERRIE
19822 J
\_ 30400 Jjﬂﬂﬂl 27300 l 4000 J
DL=-7. 000
% ] Ry |wp| we % ] Rp |wp| we
P WEE | m | 35 e T 75 s
mnsgg;u; JEERIE | n2 48 E L TRE 3 EEAE | m | 13.2 g
) SEERE | m2 1.8 AERE | m2 3.0
" Woes e e
i =
t
>
2
|
A (No 5188 ‘ ) 250
D sy N S S ST C NN NN % v 2om
BB 9 7 v s
! ‘ EERE i
L 4000 l 26400 l 4000 J

NO. 5+20~N0. 6
ES i1

S

I ¥ £ | RAFL SR M- BRI RETE

BBE% | SEAE

IHREH | MEAHBENELE 8%

BEE| #NE (3)

w R $=1:100 ‘EE?%

4/5

FEEL | ARRENRARER RIBHED <R >




$=1:100

& A Bl R 5 i | %@
AR w2 | 1.9 R34
TR EE&E | m2 | 13.0 B
" EERE | m 5.3 [
il WL R4S 18 9:30~9:35 DI=1250

SN

‘ EmRIE ‘

4000 l 26000 l 4000 J

DL=-7. 000
% B Al X5 |wa| mE
wiE | m | 234
oWt ® EERE m2 13.0
i EERE | m | 56
WS e b gm #
= P
2
|
S /“/ v m
A ‘ v
BERE
\_ 4000 J_ 26000 J_ 4000 J
DL=-7.000
& A B R 5 ) B8
miE | m | 150
M O+ B EERE m2 13.0
SEERE m2 4.3
WS egats ot g0 #
= il
£
>
i \
|
—_—  ————————=E 0N EEIY
o asm
BERR v wom
L 4000 l 26000 l 4000 J

DL=-7. 000

IHREH | MEAHBENELE 8%

B &% #mE (4)

w R $=1:100 ‘EE?%

FEEL | ARRENRARER RIBHED <R >




